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MSMM104CCT : Probability and Statistics
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-< /6 sample space Zy1 o YULZ12- 85 (Coin) Ll (ix)
AT ) 2" (¢) 2’ (b) NG

———=F —distribution (x)

» s; S, s,
I i (d) = © " (b) PG
1/3 2 g



r” e
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Lalfp probability function §random variable X (I
Value of X 0l11] 2 3 4 5 6 7
P(X) 0 k| 2k |2k]| 3k K 2k | 7K +k

s

k (i)

P(X<6) i)

PO< X <5), P(X=>6) (iii)

1 /
-;/‘C}’“‘ maximum value J a = P(XS0)>5 S )

(sum) Zf'b@]»ﬁgfn probability gd/u!gngf(toss)uv:' J/(Coins),@;

- % (neither 7 nor 11) 7 (11 < (ii) s (greater than) sslje 8 (i)

5 3 z
Silks P(B)ngP(A)ZZ JU) Ul events 1 BiIA I

gsP(AmB)sg(ii) P(AuB)z% (i)
u:”g_w'/%dfs@»

Error (Type-l, Type-ll) (ii) Sampling (i)
Confidence Interval (iv) Hypothesis (iii)

‘ag 20 ,Standard Deviation s/ 9&7990 (Average life) di’)»ﬂJ sample 15 Bulbs 26
-‘auﬁ’f[}flb'L Standard df;‘/wtﬁnt:églooo (Average life) di’)b«ﬂd/ Bulbs JLE/&{
(Table value %, =1.708 )

2%, 3%, 6% :,uf."ﬁuga",b. bulb 50% C s/ 30% B 20% A Machines Ld/nglectric Bulb {
uffnProbability y/_ugdefective uﬂnp""?ﬂ randomly I bulb{i- defective bulb
_ug&b. C,B,A Machines

_ani:Data ' daily wages ui'%ud/ skilled workersui'u;/? I3

City Size Standard Deviatin of wages in the sample
City A 16 25
City B 13 12

_Q/'/ testy variances of the wages distributed in the two cities
(Table value F c (12,15)=2.48)

2/3

(@)

(3)

(4)

()

(6)

(7)

(8)

9)



_,/awuy.! Bayes Theorem
-« limiting case —{1¢’ Binomial Distribution <Poission Distribution S

difference between the means of samples significant Ku'l;ﬁugjﬁg; independent samples s

(Table value 7, =2.16 at5% LOSand 13D.F) -

Sample-l 111 11 | 13 11 15 9 12 14

Sample-ll £ 9 + 11 { 10 13 9 8 10 | ...

/Lp experiment Vgu&wi means 1600 - 9:3:3:1 proportion ¥ means J%XA,B,C,D 7;/2@
-‘at“/support :’/result < experiment gf.% 882, 313, 289, 118 ;,«."JJJ??A/;

(Given Chi-square value a 5% L.0.S =7.81)
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